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 10 × 1 = 10 

1. 

 

(A) 

(B)  

(C) 

(D)  

2.  

(A) 

(B)  

(C) 

(D)  

3. 6 

1·5 kms 1   

 (A) 5 km (B) 5·5 km 

 (C) 3·5 km (D) 4·5 km 
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4.  
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6. 
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RV  = Ma, R  
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7. 

(A)  

(B) DNA  

(C)  

(D) DNA  
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 7 × 1 = 7 
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13.  

14.  
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16.  

17.  

18.  

 16 × 2 = 32 

19.  

20. 33 Hz

330 ms 1
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26. n-p-n 

27. 

 

28. 

 

29.  

30. 4 4  105  Pa 
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33. A B A

B
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 5 × 3 = 15 

35. 

a)  

b)  

c)  

36. a) 250 AC 10

 b) 

 

  

37. HIV 

a)  

b)  
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A B C D 

12 2 16 20 

 

 a)  

 b)  

 c)  
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 3 × 4 = 12 

40. a)  

 b) 40%
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41. a)  

 b) 

42. 

i)  

ii)  
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